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Question Number : 1 Question Id : 583224648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A *Chip™ is also called:
Options:

| % Microprocessor
> % CPU

-  Integrated Circuit

4 w Logic gate

Question Number : 1 Question Id : 583224648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 583224649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is also called the main memory or primary memory of the computer?

Options:

1 % Hard Disk
> « RAM

z % ROM

4 % Pen Drive

Question Number : 2 Question Id : 583224649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 583224650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is false?
Options:
, » ROM contains permanently stored instructions.

- % ROMis a non-volatile memory.

5 » ROM stores instructions for the booting process of a computer.

4  ROMis a sequential access memory.

Question Number : 3 Question Id : 583224650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 4 Question Id : 583224651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a portable computing device?

Options:
| % Laptop

> % Notebook

5 o Desktop

4 » Palmtop

Question Number : 4 Question Id : 583224651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 583224652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is single-user computer, mainly used in offices and homes?

Options:
, ® Supercomputer
-~ % Minicomputer

- % Mainframe computer

4 Microcomputer

Question Number : 5 Question Id : 583224652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 583224653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an optical storage device?

Options:
1 « Hard Disk

> % CD-ROM
z ® DVD
4 w Blu-ray Disk

Question Number : 6 Question Id : 583224653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 583224654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Pen drive is a portable USB flash memory.
II) Pen drive is a sequential access memory.

IIT) Pen drive is a volatile memory.
Options:
| % I-False, II-True, III-False

5 % I-False, II-False. III-False
-  [-True, II-False, III-False

4 % I-True, II-False. III-True

Question Number : 7 Question Id : 583224654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 8 Question Id : 583224655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

Set-1 Set-2

I) Microphone A) Recognition of text characters from scanned
files

IT) OCR B) Data manipulation by touching the screen
directly

IIT) Web camera C) Converts sound into electrical energy

IV) Light pen D) Video chats

Options:

; & IFA II-C III-B, IV-D



, % I-A.II-C. III-D. IV-B
5 « I-C.II-A. III-B. IV-D
., v IFC.II-A III-D. IV-B

Question Number : 8 Question Id : 583224655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % |-A, 1I-C, lIl-B, IV-D
, % A, II-C, lI-D, IV-B
. = I-C, II-A, 1II-B, IV-D
. v -C, II-A, 1II-D, IV-B

Question Number : 9 Question Id : 583224656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a high-level language?

Options:
1 % Fortran

2 # Cr+
= % Java

4  Assembly language

Question Number : 9 Question Id : 583224656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 583224657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a utility software?
Options:

, « Disk defragmenter
> % Windows XP

z #® Unix

4 % MS-Excel

Question Number : 10 Question Id : 583224657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 583224658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is used to create text. audio., video. graphics and animations?

Options:
1 ® Database management system

> % Word processing software
= % Presentation soffware

4 +« Multimedia software

Question Number : 11 Question Id : 583224658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 583224659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a proprietary software?
Options:

1 #% Windows 7

> % Unix
= % Solaris
4 « Linux

Question Number : 12 Question Id : 583224659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 # Windows 7

> % Unix

2 # Solaris

4« Linux

Question Number : 13 Question Id : 583224660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following manages the computer resources and controls the internal functioning of a computer?

Options:
1 o Dperatmg system

- » General-purpose application software
- % Special-purpose application software
4 % Utility software

Question Number : 13 Question Id : 583224660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 14 Question Id : 583224661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following is equivalent to 64 Megabyte?

Options:

| u 2% Byte

- 219 Kilobyte
T R 230 Bits

4 % 2% Kilobyte

Question Number : 14 Question Id : 583224661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 15 Question Id : 583224662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process to restart a computer system in which the power is physically turned off and back on again is called:

Options:

1 + Hard boot
> # Soft boot
%z % Warm boot

4 % System restore

Question Number : 15 Question Id : 583224662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 583224663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The program used by a personal computer's microprocessor to initiate the booting process of the computer is called:
Options:

1 % Buffer

> #% POST

3 « BIOS

4 % Driver

Question Number : 16 Question Id : 583224663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 B g0

« 9IES (POST)
- » T4 (BIOS)
4 % gieil

e

Question Number : 17 Question Id : 583224664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Dhring the booting process of a PC. an operating system in loaded into memory only when the routines
completes successfilly.

Options:
. = System Restore

> % System Recovery

5 # System Backup

4 o POST

Question Number : 17 Question Id : 583224664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 583224665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Resizing a window using its corners can change:

Options:
, w Its height only

- % Its width only

- » Neither height nor width

4 « Both height and width

Question Number : 18 Question Id : 583224665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 583224666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An IP address representation using decimal-dotted notation requires dots.
Options:

1 % Two

> « Three

= % Four

4 ® Five

Question Number : 19 Question Id : 583224666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 583224667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The length of an IPv4 address is bits.

Options:
1 ® 16

o 32
4 ® 128

Question Number : 20 Question Id : 583224667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

; & 16
> « 32
= % 64
4 % 128

Question Number : 21 Question Id : 583224668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to computer security. VIRUS stands for:

Options:
1 % Vulnerable Information Resources Under Seize

« Vital Information Resources Under Seize
% Vital Information Retrieval Under Seize

% Vulnerable Information Retrieval Under Seize

o LA RS

Question Number : 21 Question Id : 583224668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 583224669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following is NOT a malicious program/software?

Options:
1 #% Virus
-~ % Worm

5 % lrojan

4 « Antivirus

Question Number : 22 Question Id : 583224669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 583224670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The “Programs and Features™ group under the Control Panel utility can be used to:

Options:
1 +« Uninstall a software
» % Create a user account

- » Change Firewall’s settings

, # Change system data and time

Question Number : 23 Question Id : 583224670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 583224671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is NOT related to the preventive measures for protecting a computer from viruses?
Options:
, w Install some antivirus program on the computer

- » Always scan external memory devices before copying files from them
- u Perform complete system scan frequently

4 « Keepon cleaning RAM chip frequently

Question Number : 24 Question Id : 583224671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 583224672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a virus symptom?

Options:
, w Frequent hanging of a system

-  Fast drainage of battery
- % Showing abnormal write protect error

4 % Unusual growth in file size

Question Number : 25 Question Id : 583224672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 583224673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
State whether True or False.

I) The display resolution of VDU is fixed and it cannot be changed.
IT) A computer may not have two or more operating systems.

Options:
, = IFalse II-True

> % I-True, II-False
-  [-False, [I-False

4 % IFTrue. II-True

Question Number : 26 Question Id : 583224673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 583224674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In basic FAT file system, the (primary) name of a file or directory can be up to characters long.

Options:
1. % 3
2o 8
= % 16
4 % 32

Question Number : 27 Question Id : 583224674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 583224675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to file management, NTFES stands for:
Options:

, % New Technology File Security

» » New Terminology for File System

5 « New Technology File System

, % New Terminology for File Security

Question Number : 28 Question Id : 583224675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 29 Question Id : 583224676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following file format is nsed to present documents in a manner independent of application soffware,
hardware and operating systems?

Options:

i % JPEG

5 « PDF

= % DOC

4 % TXT

Question Number : 29 Question Id : 583224676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % JPEG



. » PDF
s » DOC
4% TXT

Question Number : 30 Question Id : 583224677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a reserved name in FAT file system?

Options:

1 % LPTI1

> % AUX

=z % COMI
4 « FILE

Question Number : 30 Question Id : 583224677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % LPT1
. u AUX
2 . COM1
4 v FILE

Question Number : 31 Question Id : 583224678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to MS-DOS operating systen, which of the following files contains statements to configure DOS and load
device drivers?

Options:

1 % AUTOEXEC.BAT

> % MSDOS.SYS
2 « CONFIG.SYS
4 ® COMMAND.COM

Question Number : 31 Question Id : 583224678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

., » AUTOEXEC.BAT
» » MSDOS.SYS



- » CONFIG.SYS
. * COMMAND.COM

Question Number : 32 Question Id : 583224679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) A folder cannot have both ZIP and PDF files together.
IT) Nesting of folders (i.e.. creation of folders within a folder) can be done only up to three levels.

Options:
, « [IFalse, II-False

- w I-True, II-False
- » [-False, II-True

4 % I-True. II-True

Question Number : 32 Question Id : 583224679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 583224680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following key is pressed to create new paragraphs in a Word document?

Options:
1 = Tab

> B F1
= % Shift
4 « Enter

Question Number : 33 Question Id : 583224680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:




1 ® Tab
- % Shift

4 « Enter

Question Number : 34 Question Id : 583224681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In MS-Word. “Center Align™ button aligns texts:
Options:

, w Tothe left margin

> % To the right margin

o o o the center of the left and right margins

4 # Tothe center of the top and bottom margins

Question Number : 34 Question Id : 583224681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 35 Question Id : 583224682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a Word document, the zigzag green underlines indicate possible:

Options:
« Spelling error

1
> « Grammatical error
- % lmproper font type
4 % lmproper font size

Question Number : 35 Question Id : 583224682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fordlr 38 sfagie & & #7Er g¥ TT Y AT T FIT AT 87

Options:
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Question Number : 36 Question Id : 583224683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS-Word. a word can be selected by clicking the word time(s) simultaneously.

Options:

1 % Omne

= « Two

3 % Three

4 ® Four

Question Number : 36 Question Id : 583224683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS-Word &, T ereg 9T &9 A IR BFd® F&F 3 e 1 [Faage BFar o1 gaar B

Options:
1. % Ueh

E.Jasr

3_@(‘-?!?{
4_&3’3a1-\r

Question Number : 37 Question Id : 583224684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS-Word, a 12-point font size is equivalent to:

Options:
# 1Inch

3

> % 1/2 Inch
- % 1/4Inch
4 + 1/6 Inch

Question Number : 37 Question Id : 583224684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS-Word &, 12-912¢ Wiec T= F TqET & 2

Options:



Lo 16 &

Question Number : 38 Question Id : 583224685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) In MS-Word, “format painter” is used to copy formatting from one place and apply it to another place.
IT) The cut or copied texts are temporarily stored in Clipboard.

Options:
1« I-True. II-True

> % [I-False, II-True
5 % I-True, II-False

4 u I-False, II-False

Question Number : 38 Question Id : 583224685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
FIF BT FUF Ty o 799 27
[} MS-Word &, “format painter” &1 TEIATH TIATCIT &1 T TUTS & &9 &0 3T 5% g8 e
¥eeTE Fe e SR s #
l)F= a1 Fidr o ge 9w FavEE # Frn w9 8 1R A #

Options:

K
o« |=Terd, |I-wdr
o w |-EEY, ll3Tera

4 w 1-9TcAd, ||-3TeTd

Question Number : 39 Question Id : 583224686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Excel. an active cell is highlighted by a border.

Options:
1 ® Red

> # Blue
3 « Black

4 % Green



Question Number : 39 Question Id : 583224686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THUE-TFES H, BiFT O ST SIRT FETEES B &
Options:
1_p$3 GG

glﬁﬁlﬁ
5 el
4.@33-1-

Question Number : 40 Question Id : 583224687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default horizontal alignment of numeric values in MS-Excel worksheets is:

Options:

, w Justify

>  Right

= % Centre
4 % Left

Question Number : 40 Question Id : 583224687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MS-Excel Tefic # OETTeRs AT # Bwiee &3S TI@UT (horizontal alignment) g1T &

Options:

2
3 & WX
4 % OFC

Question Number : 41 Question Id : 583224688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Each file in MS-Excel is called:
Options:

1 « Workbook

> % Worksheet
# Gnd
# Flat file



Question Number : 41 Question Id : 583224688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS-Excel #T 93 FI=aT Falar &

Options:

ECTEEn

1.9 =

o R E#Q?IE
o ® ﬁjg

, x TFIT HIEA

Question Number : 42 Question Id : 583224689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an Excel worksheet. a cell can be accessed by using:
Options:
; % Row number only

> % Column name only

5 o Its cell address
4 % Its relative position in the worksheet

Question Number : 42 Question Id : 583224689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ta8d ghfE H, T IF FT 3T FIH ‘-!§={J ST HehaT 2l
Options:

> #% HaF FIAH ATH
, « FRIE A g e Rl

Question Number : 43 Question Id : 583224690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The display value of a cell containing the Excel expression “=2"4/2%4" is:
Options:

1 ® 16

o 32

= % 1414

4 % 2



Question Number : 43 Question Id : 583224690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
et @ &7 v =1v vade THUT (expression) “=2"4/2+4" w1 Breer AT T

Options:

- % 1.414

4 % 2

Question Number : 44 Question Id : 583224691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To enter data on a new line. a line break within an Excel cell can be created by pressing:

Options:
1 « Alt-Enter

> % Ctrl+Enter
= % Down arrow
4 #% Shift+Enter

Question Number : 44 Question Id : 583224691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
7= TES F IE U 7 F T e v O ¥ oaEw ZEFT TEA §F TAET F TFEAT 2

Options:
1 « Alt+Enter

> % Cirl+Enter
5 x 3131 T
4 % Shift+Enter

Question Number : 45 Question Id : 583224692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) In MS-Excel. you cannot sort textual data.
IT) In MS-Excel. comma (.) can be used to display the value of the cell with a thousands separator.

Options:
1 « [IFalse, II-True

» % I-False, II-False
z % I-True, II-False

4 % I-True, II-True



Question Number : 45 Question Id : 583224692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FF BT FUF TEr WA TES 27
I} MS-Excel &, 317 255 %27 1 8= (sort) T8 F1 T

I\ MS-Excel &, 18T (,) 7 9307 U3s2 B0 & oy BT @9 & 79 & G & e B =
TR #
Options:

| |eTed, 1w
> # |-3Terd, ||-3TeTd
- w |-EET, |9
4w -, 1T

Question Number : 46 Question Id : 583224693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

LIST-1 LIST-2
I) ANAME? A) When Excel does not recognizes text in a
formula
IT) #DIV/0! B) When a formula has the wrong type of
argument
IIT) #VALUE! C) Division by zero
Options:

; % IFC. I-B, III-A

> % I-A, II-B.III-C

- % I'B,II-C, III-A

4 v ImA I-C.III-B

Question Number : 46 Question Id : 583224693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fe=fofeT & fBaw =&

-1 -2
) #NAME? A) S TFHT FTHT H CFEC N IgAT el HT Gl
1) #DIV/0! B) SI& WA % T (argument) T YR ITST &
1) #VALUE! C) =T ¥ Fem=i=t
Options:

. % -C, 1B, IIl-A
. = A, II-B, lII-C



. = I-B, II-C, llI-A
. FA IIC, 1B

Question Number : 47 Question Id : 583224694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a software that reads and interprets webpages written in HTML?

Options:

1 « Browser
- #% ISP

5 % Antivirus

4 % Modem

Question Number : 47 Question Id : 583224694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Frafafs 7 7 9 5 §iveay TSRwAETE ¥ B dmgs 7 gear £ AT 39 RS (interprets)
I 87

Options:

| o SIS
5 ® HES.TH.OT.
3 ® TEETITH
4 % ASH

Question Number : 48 Question Id : 583224695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first page of a website is called:
Options:
| % Root page

- % Primary page

5 Home page
, w Auxiliary page

Question Number : 48 Question Id : 583224695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

JEUTSE & 9ge 9 FI el AT 8

Options:

1_%3 E‘ﬂ?
i qISHLT 9
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Question Number : 49 Question Id : 583224696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Uploading is a process to transfer data from computer to computer.

Options:
, « Local Remote

5> R Remote. Remote
5 % Local. Local

4 8 Remote. Local

Question Number : 49 Question Id : 583224696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

YT H FYeY H 32T FAAHUT (transfer) @1 wfmar #r
OIS FET AT g
Options:

| v dd, AR

. » RAE, EAE

o Olehol, Siehd

=

4 % m,m

Question Number : 50 Question Id : 583224697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following network topologies, each node is connected with exactly two nodes?

Options:
1 % Star

> ® Mesh
5 o RiNg
4 % DBus

Question Number : 50 Question Id : 583224697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frafafee # @ B dead N § 93w A1 Fa9 o AF ¥ S A ¥

Options:
R
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Question Number : 51 Question Id : 583224698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a “*Star™ network topology. the distance between any pair of nodes is hops?
Options:

1. ¢

I-.2

2.533

o ®

N 4;_

4. %

Question Number : 51 Question Id : 583224698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘FER” FAeas e H, R off A5 F At & @ Frogl 819 (hop) &I 81
Options:

1. 2

2%-33
3 % 4
4 % 5

Question Number : 52 Question Id : 583224699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Webpages are linked to each other by hyperlinks.
II) Tiun Bemers-Lee is known as the inventor of the World Wide Web.

Options:
1« IFTrue, II-True

» % [I-False, II-False
5 » I-True, II-False

4 % I-False II-True

Question Number : 52 Question Id : 583224699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



FT TT FUFT TET AT 7T 27
) IS TF g § FERIcF AT 2 A Bl
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Options:
L l-ggr, ||-ugr

o u |-3Terd, ||-3TeTd
2 % l-gEr, ||-aTerd
4 % |-°Ted, |l-Tar

READING COMPREHEMNSION

Section Id ; 58322474

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322474
Question Shuffling Allowed : Yes

Question Id : 583224700 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension



Read the following passage and answer the questions given
after it.

Everyone says that the old house at the end of the road is
haunted. It used to be the residence of a rich family but now none
of them would stay there. So the house is vacant and uncared for.
The compound is filled with over-grown weed and grass.

My friend Jack, and I decided to find out once and for all if what
people said was true. So one evening, we bravely entered the
house and prepared to spend the night there. We brought along
a powerful torchlight. two sleeping-bags. some food and drinks.
and a portable stereo set.

The early part of the night was no trouble at all. We sat on our
sleeping-bags and listened to our favourite music.

Twelve midnight came. We felt a bit sleepy. So we switched off
the stereo set and crawled into our sleeping-bags. However sleep
was impossible. There seemed to be a heavy atmosphere hanging
around us. The darkness was oppressive and there was a strange
soft wailing sound noise coming from upstairs.

We dared not go up to investigate the sound. So we lay quietly
in our sleeping bags and hoped that the noise would go away.
But it would not go away.

Actually it got louder and louder. Then it sounded like someone
moaning. Jack hurried out of his sleeping bags and switched on
the torchlight. We could see nothing except the walls of the
empty living room we were in.

Suddenly there was a loud crash from upstairs and the moans
turned to screams. We screamed too and ran out of the house as
fast as we could. leaving behind everything that we had brought.
My hair stood on end for hours afterwards.

We never dared to go back into the house. not even in the
daytime. My uncle had to go and get back the things we had left
behind there.

So. 1s the house haunted? All I can say is that if you want to
know. go and find out for yourself.
Sub questions



Question Number : 53 Question Id : 583224701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The soft wailing sound from upstairs started at/in
Options:

1 # the forenoon

- % quarter past nine
-  twelve midnight

, % early morning

Question Number : 54 Question Id : 583224702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“My friend, Jack and I decided to find out once and for all if what people said was true.” — shows that the bovs were:

Options:
1 « curious and adventurous

> % anxious and nervous
z # Dbrave and honest

, = loyal and responsible

Question Number : 55 Question Id : 583224703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The early part of the night was

Options:
1 # awesome

-, u frightening
= « without trouble
4 % carefree

Question Number : 56 Question Id : 583224704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“My hair stood on end for hours afterwards™- reveals that the boy was:

Options:
, w cool & composed

- % recovering from illness

% # in dilemma
4 « shocked & terrified

Question Number : 57 Question Id : 583224705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



What form of writing is the given passage?
Options:

, w adiary

- % Ironical speech

5 o lystery story

4 » aninformative essay

Question Id : 583224700 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 583224701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ofedt & FT ¥ H@F 228 HET H=AT & HIH g‘é‘

Options:

19 qfﬁﬁﬁ
- v 9N T AT T[T H

HEg 9Td: &Il H

4 % 2

Question Number : 54 Question Id : 583224702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

i A ar i F Ay m I e T R SR S ET FES E FT S
w owm|" - OF geiaT g R A TReer

Options:

llwﬁ?ﬁm_,aﬁ?m

mga?aﬁng:r

e S
. TG AN SRR
, » TFPER AR TFAer

Question Number : 55 Question Id : 583224703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

9 FT 9gar ferar 27|

Options:

1. % Eﬁ?m
z_wﬁﬂlﬁ%’
| Fhoag
4&?%?@

Question Number : 56 Question Id : 583224704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘ST §1¢ AY 961, el O @S @'- ¥ IaT I g o 954 |

Options:
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Question Number : 57 Question Id : 583224705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fdr =TT aTETer A oI@e 1 AT ¥ feAm gIm E?

Options:

| % TR S
, THETETYOT Yo
= L

- v EEIICHSF Fgldl

, x GETCHE IEE)
CUANTITATIVE AFPTITULE
Section Id : 58322475
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322475
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 583224706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The difference between the digits of a tawo-digit number is 5 and the digit at the mut's place is 6 tines the digit at ten’s
place. What is the mmbes?

Options:



Question Number : 58 Question Id : 583224706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T FN I TR F R S I R ISP AN A F E I A, B F I I FF T 6
O &1 wEa e g

Options:

1 & 27
> % 12
3¢ 16
4 % 61

Question Number : 59 Question Id : 583224707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
25% of Reena’s yearly income is equal to 75% of Anubhav’s monthly income. If Anubhav’s yearly Income is

Rs. 2.40.000. then what is Reena’s monthly income?

Options:
; % Rs. 60,000

, % Rs.12.000

]

2 % Rs. 5200

]

4 v Rs.5.000

Question Number : 59 Question Id : 583224707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

far Fr I 3T T 25%, I3HT F ARRE JT F 75% & A g A FFHT F ae J
F.2,40,000 &, a1 Iar &1 A 3w e 272

Options:

. » ¥ 60,000
, x & 12,000
. » ¥ 5,200
. v & 5,000

Question Number : 60 Question Id : 583224708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The efficiency of A is half the efficiency of B. Also, the efficiency of A is one-third the efficiency of C. A. Band C
together do a work in 24 days. Find the number of davs each will take alone to do the entire work.

Options:
, % 308,156,120

. w 200,100,90
5 w 288.144.96



4 v 144, 72,48

Question Number : 60 Question Id : 583224708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Afrearar B EaTa s S Ay S AR AT C A amaT A E @R §1 A B iR C f&w
T UF FH & 24 EF F 90 Fa 31 T o gan, FH FY F O = F B e &
T

Options:

. » 308, 156, 120
, % 200, 100, 90
. = 288, 144, 96
L v 144, 72, 48

Question Number : 61 Question Id : 583224709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A vessel contans &0 litres of milk. Six litres of malk 1 taken out and six litves of water 1= added to the vessel. Again, s1x
litres of milk from the vessal is withdrawn and six litves of water is added to the vessel, The ratio of milk and water in
the resulting mixture in the vessel is:

Options:

1« 81:19
o % J1:29
= % 61:39
4 % 61:29

Question Number : 61 Question Id : 583224709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

vH @A & 60 #eT gw &1 §EE ¥ 6 ey gy e, 3uA 6 dey 9w e B @ &) = A e
A # 6 HeT gu e, Iwd 6 wiey o fRer R o B g v ® oae & A T &, gu
Ht 9l e e &

Options:
|« 81:19
. » 71:29
- % 61 : 39
. % 61 :29

Question Number : 62 Question Id : 583224710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average weight of Neena, Meena and Reena is 50 kg. The average weight of Neena and Meena is 45 kg. The
average weight of Meena and Reena is 47 kg. What is the weight of Meena?

Options:

; » 30kg



Question Number : 62 Question Id : 583224710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frar, #=r Mt far =7 ftma g= 50 R # e T e v siEE g=w 45 TR ) e ot
far =7 o 5= 47 T & A o g RREer B

Options:

, = 30 BFam
> % 31 fkam
5 = 32 fFam
4 v 34 e

Question Number : 63 Question Id : 583224711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The area of a circle i1s 3850 square meters. What will be the circumference?

Options:
1 % 233 meters

-~ % 226 meters
= % 230 meters
4 « 220 meters

Question Number : 63 Question Id : 583224711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U Jod FT &TF 3850 FIHE gl FHH IR Tt gref?

Options:
4 v 220 Hrex
GEMNERAL MENTAL AEBILITY AND REASONING
Section Id : 58322476
Section Number : 4
Section type: Online
Mandatory or Optiona: Mandatory

Number of Questions: 6



Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 58322476
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 583224712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In each of the fellowing question. four words have been given out of which three are alike in some manner, while the
fotnth ong s different .Chodsze ot the odd one

Options:

, » Rigveda

- % Yajurveda

5 o Ayurveda

4 % Atharvaveda

Question Number : 64 Question Id : 583224712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

F=fofaa Tea &, =K o= fov o0 & &9 ¥ 99 & 9w ¥ ve 3w &, Sefe gtr o 2
HEIT Fr 9g=T FL
Options:

1 ® ﬂzaéa

o R ]
= =

Question Number : 65 Question Id : 583224713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If in a certain code, COVET is written as FRYHW., which word would be written as SHDUO?

Options:
1 v PEARL

> % REPAY
2 % STINK
. % QUAKE

Question Number : 65 Question Id : 583224713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



e TffeT = ¥mar B, COVET #Fr FRYHW o 3 £ 3 e o= = SHDUO o srrem?
Options:

. v PEARL
, # REPAY
- = STINK
. # QUAKE

%

&

4

Question Number : 66 Question Id : 583224714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ramakant walls porthwards. After a while. he tirns to his right and a little further to his left. Finally, after walking a
thstance of one Kilomerer, he numns to his leff agaim. In which divection is he moving now?

Options:
1 % North

- % South
= % FEast
4 « West

Question Number : 66 Question Id : 583224714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THEE Iead fam 1 HT ST I 1 O 8T A, 3F 39 gT H5er g 3T o g e e A
HEoT #1 Ha 7 ve Teeder & gl ues & o, 9 R ® o e JE s § o Ay Tew R @
¥R T W27

Options:

1 ® 3cdd

Question Number : 67 Question Id : 583224715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the information given below and answer the question that follow:

L F is the brother of A.
IL. C is the daughter of A,
IMI. K is the sister of F.

IV. G is the brother of C.

Who is the uncle of G?
Options:
J % A

> % C



3¢ F
4 % K

Question Number : 67 Question Id : 583224715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A= &7 T AR H I 3HT A BT 9w geAT & 3K &
. F, A & &5 2

II. C, A &r & &
. K, F &r g 2l
V. G, C & o915 gl

G T I=T R 22

Options:

1%-$A

2%-3(:

s« F

4 % K

Question Number : 68 Question Id : 583224716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If *=*stands for *dwvision’. =+ for ‘tmudtiplication”,” = for ‘subtraction” and “*° for *addition”, which one of the following
equations is ¢ormect?

Options:
1% 6+20-12+7—1=38

5> % 6-20+12*7+1=57
s % 6+20—12+7*1=62
4 6520%12+7—-1=70

Question Number : 68 Question Id : 583224716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T WOET MY M, T MY O, a A T M e ow oA e g oA e A e
wie | TEEIOT T £7

Options:

% 6+20-12+7-1= 38

% 6-20+12+7+1=57

2% 6+20-12+7 + 1= 62

4w 620+ 12+7-1=70

Question Number : 69 Question Id : 583224717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Find the missing number in the following figure.

3 15
2 11
5 2
Fi i
Options:
1. ¢ 3
] ® 12
=z W 13
4 B 20

Question Number : 69 Question Id : 583224717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ﬁﬁﬁﬂ%ﬂﬁﬂﬁmﬂeal AT FL

3

-
(]

Options:
1.4 5
5 % 12
z % 13
4 % 26
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Question Number : 70 Question Id : 583224718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Headquarters of the Universal Postal Union (UPU) is located in which of the following country?

Options:
1« Switzerland

- % United Kingdom
= % Iran
4 % India

Question Number : 70 Question Id : 583224718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
feade diees gfAas (T9) 1 geew Reaeiad § ¥ 9 ¥ g # e 32
Options:

1.#"%37-"@;5—

=4

o R r\.E F

4_&%

Question Number : 71 Question Id : 583224719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following date is observed as World Health Day every year?

Options:

| % 8™ April

o % 10™ April

o oudl 7% April

4 % ot April

Question Number : 71 Question Id : 583224719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Tafaa 7 o #ia O Y 71 93+ av G =g faw 79 Far 82
Options:

| % 8 3
5 % 10 3%
s v 7 3
4 R 9 e




Question Number : 72 Question Id : 583224720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Magsaysay Award for social service was instituted by:

Options:
1 ® The Government

> % The UNO
3 # TheILO

4 Philippines Government

Question Number : 72 Question Id : 583224720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WA BT & AT JT8d (Magsaysay) [WERR frds o fRar ar?

Options:

 guIHT
2&5 ",

L x HRTAN
4 v TholdE EER

Question Number : 73 Question Id : 583224721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Man Booker Prize for 2016 was won by for his novel ‘The Sellout’.
Options:
, w Aravind Adiga

-  Paul Beatty

= % Julian Barnes

4 w Vikas Swarup

Question Number : 73 Question Id : 583224721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2016 & #A T [EFR o 39S 3UOTH T AHEE F o SiEr o

Options:

% NfEeg HfET
E_Jqﬁ'ﬁgﬁ'

.y T T
4 % ETH TFET




Question Number : 74 Question Id : 583224722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Saina Nehwal is associated with which sport?
Options:

, = Archery

> % Tennis

% « Badminton

4 % Wrestling

Question Number : 74 Question Id : 583224722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T Agare RE T @ 2 g% 27
Options:
R EGLGED
> » efaw
3 v SSfieT
FedT

.

Question Number : 75 Question Id : 583224723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The famous book ‘The Daughter of the East” is written by:

Options:
1 « Ms. Benazir Bhutto
> % Ms. Taslima Nasreen

- % Ms. Aungsan Suu Kyi

4 % Ms. Bandaranaike Sirimavo

Question Number : 75 Question Id : 583224723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST A% § Sied 316 & s¥¢ fhee o off?

Options:

i AT, ST ST

S T!g&?r. AT 940

I U
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Till date, the demonetized India was facing money laundering and cash crunch troutles. But, it 15 now time for
India to get ready to face digital black money laundering soon enough. A study from Forbes suggested that the
likes of Bitcoin trading has already seen a huge plunge after Rs 500 and Rs 1000 notes were pulled back from
circulation. [t has been observed that with the use of such digital currency, it would be easier to turn black
morney into digital black money. Also, tracing such illegal money would be impossible, If these reports by
Forbes are 1o be believad, it can be said that while corronon people might struggle to even understand how this
wiorks, the crirrinals and black money traders are already into it Sorme people believe that digital black rmoney
Ay certainly Corme into existence, as Bitcoin does work like physical currency. They are digital crypto
currency, generated by computer instead of being physically printed or minted. It is stacked digitally in a
decentralized systern, which cannot be controlled by any individual, banlk or authority. It is globally traded
and is one of the forms of currency which can be used all over the world in the rmost concealed ways. Further,
these bitcoin and darknet accournts are completely anonyrmous. There is absclutely 1o link 1o your physical
address, name or any other details that can be used to track a person. In simple words, the whole process is 50
widespread that it 15 impossible to trace the persorn linked to the accourts that are usually very transparernt.
Zebpay has even affirmed that only a few days after the declaration of dermonetization, the price of one
bitcoin surged from Es 51,600 to Rs 69,500 It is clear that the dernands increased and people are lured to it.
It also showes that the black money holders hawe already discovered the loophole, where they could stack their
money. Contrary 1o this, there are sorme market experts wihio believe that the Indian government would not
become the prey to digital black econormny. According to thern, the goverrument promrused to work: o bitcoin and
blockchain framework soon and would close all the loopholes through which black money laundering will
corme to an end. New regulations will be framed to ensure that flow of illegal money is kept in check. In short,
blaming the demonetization move of the government is unreasonable. Very few merchants in India accept
bitcoins and it would require rmach tirme to get acquainted with thern Also, trusting on such investrmnents
would not be easier for the merchants. REI is already looking into the prospects and designing solutions for it.
Thus, it can be assumed that regulations will prevent digital black economy from flourishing.
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